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=] SR ppm ppm B % BE % ppm — =]
W FRI0 362 8,641 0.002 0015 0 00 0 00 0.004 m 0
EHLER SFT 358 8,562 0.001 0.009 0 00 0 00 0.003 = 0
2 362 8,639 0.001 0010 0 00 0 00 0.003 = 0
3 363 8,641 0.001  0.007 0 00 0 00 0.002 = 0
4 363 8,645 0.001 0018 0 00 0 00 0.003 = 0
TR0 121 2915 30005  0.021 0 00 0 00 0.009 m 0
W FR30 363 8,643 0.001 0016 0 00 0 00 0.003 m 0
2B Sfx 362 8,646 0.001 0.010 0 00 0 00 0.003 m 0
2 353 8,514 0.001  0.008 0 00 0 00 0.003 = 0
3 361 8,633 0.002  0.008 0 00 0 00 0.003 = 0
4 362 8,638 0.001 0010 0 00 0 00 0.002 m 0
FEH0 232 5584 30003  0.011 0 00 0 00 0.006 m 0
RETEHEE ST 365 8,744 0.004 0017 0 00 0 00 0.008 m 0
2 360 8,638 0.004  0.021 0 00 0 00 0.007 = 0
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DI B,
(2) REABIEHE FREICHEDUERBRERBNICEHTI ICHDFHDIIETHD. BIFIED 2%FME (FEDBEIEBODODHB. SULAN5
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U BBIEBH = 30 31 30 31 31 28 31 30 31 31 28 31 363

LEBES RIS b5 714 737 712 738 735 685 736 714 736 737 666 735 8645
55 ppm  0.002 0.02 0.02 0001 0.02 0001 0001 0.001 0001 0001 0001 0.002 0.001
EEBEH0.1ppmEBZ 215/ 85 0 0 0 0 0 0 0 0 0 0 0 0 0
BESEH0.04ppmEBZZEE B 0 0 0 0 0 0 0 0 0 0 0 0 0
1IBEEORSE ppm  0.005 0.005 0.007 0.007 0.08 0.018 0.005 0.03 0.004 0005 0.004 0.007 0.018
BEBEORSE ppm  0.003 0.003 0.03 0003 0.004 0.004 0002 0.002 0.002 0002 0002 0.004 0.004

jedzz! BERIEBD = 30 31 30 31 31 27 31 30 31 31 28 31 362

SR = I el <A bR 713 737 711 738 737 678 738 714 734 738 666 734 8638
515 ppm  0.001 0.01 0.001 0.001 0.001 0000 0001 0001 0.001 0001 0001 0.001 0.001
EEBEH01ppmEBZ IZI5RE 85 0 0 0 0 0 0 0 0 0 0 0 0 0
BESEH0.04ppmEBZZEE B 0 0 0 0 0 0 0 0 0 0 0 0 0
IBREEORSE ppm  0.005 0.004 0.05 0.005 0.010 0.05 0004 0003 0.005 0.004 0005 0.005 0.010
BEBEORSE ppm  0.002 0.02 0.002 0.002 0.004 0002 0001 0001 0.001 0.002 0002 0.003 0.004




